
WATEROUS COMPANY
Revised: SOUTH ST. PAUL, MINNESOTA

REF NO. REF NO.DESCRIPTION DESCRIPTION

CS PUMPS BODY ASSEMBLY

01/20/97

Issued: 05/88

PLEASE NOTE
WHEN ORDERING PARTS PLEASE SUPPLY PUMP SERIAL NUMBER PAGE 1 OF 5

SPL81608

B2 Pipe tee, 1/4 in.
B3 Close pipe nipple, 1/4 in. x 7/8 in.
B4 Sq hd pipe plug, 3/8 in.

 (Used when priming valve is omitted)
B6 Sq hd pipe plug, 1/4 in.
B7 Suction flange gasket
B8 Suction adapter, RH (or rear suction adapter, RH)
B9 Gasket, suction fitting, standard suction adapter
B10 Cap screw, 1/2−13 x 4−3/4 in.
B11 Dowel pin, 7/16 x 1−1/4 in.
B12 Gasket set, cover to body
B14 Cap screw, socket hd, 5/8−11 x 2−1/4 in.
B15* Unbalanced nut, 5/16−18
B16 Flat washer, brass, 5/16 in.
B17* Stud, 5/16−18 x 1−5/8 in.
B18 Cap screw, 1/2−13 x 1−1/2 in.
B19 Tank suction adapter, 2−1/2 NPT, 3 NPT, 4 ANSI

 or tank suction valve
B20 Blind flange
B21 Suction adapter, LH
B22 Cap screw, 1/2−13 x 1−1/4 in.
B23 Cap screw, 3/4−10 x 2 in.
B24 Rd hd drive screw, No. 6 x 1/4 in.
B25 Serial plate (body mounted)
B26 Adapter gasket, tank suction
B27* Check valve, tank suction

B28 Cap screw, 3/8−16 x 1 in. or 1−1/4 in.
B31 Rear suction fitting gasket
B32 Pipe plug, 1/8 in.
B33 Discharge flange gasket (Iron Body only)
B34 Rear suction fitting
B35 Hex hd bolt, 1/2−20 x 2 in.
B36 Hex nut, 1/2−20
B37 Body assembly (sold as assembly only)

 (Consists of volute body and volute cover)
B39 Suction flange gasket (Bronze body only)
B40 Cap screw, socket hd, 1/2−13 x 1−1/2 in.
B41 Blind flange
B42 Discharge flange gasket
B43 Gasket Kit consists of (B7, B12, B26, B33, B39, B42)
B44 Gasket, suction fitting, large suction adapter
B45 Standard pipe cross, 1/4 in. x 1/4 in.
B46 Reducing bushing, 1/4 in. x 1/8 in.
B47 Hose assembly
B48 Male union adapter, 1/8 in. x 1/8 in.
B49 Serial plate (located at operators panel)
B50 Set screw, socket hd, 5/16−18 x 1/2 in.
B51 Cap screw, 1/2−13 x 1 in.

 (used only on B19 tank suction valve adapter)
B52 Self threading nut
B53* Sq hd pipe plug, 1/2 in.
B54* Plain bearing, TFE (used after 1/5/93)



PAGE 2 OF 5

SPL 81608

REV: 01/20/97



PAGE 3 OF 5

SPL 81608

REV: 01/20/97



PAGE 4 OF 5

SPL 81608

REV: 01/20/97



PAGE 5 OF 5

SPL 81608

REV: 01/20/97


